nysayy 4

d

dnyuonewuioyu

aqe//

NLHEAID/ENTO PP UllIRQ-NYI|'3gel//

.
S
o
o
5.
o
)
o
-
=0
=3

©

ap°ul1seg-Ny'140]00//

V L o Y M
http://farbe.li.tu-berlin.de/CEV3/CEV3LONA.TXT /.PS; only vector graphic VG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

#“ 2

o l o

R(A) standard reflection
Ostwaldcolour green G,\1=470 Ap=570 ,A¢=520
triangle ightness 1+

standard reflection
Ostwaldcolour: cyan C,A;=400 A,=570 ,A4=495

R(N triangle lightness T+
[ 0.000_ _

A=

R()) standard reflection
Oslwaldcolour green G =470 ;=570 ,A¢=520
wiangle lightness 1+

1,001

O

standard reflection
Ostwaldcolour: cyan C,A1=400 1,570 As=495
ROV triangle ightness 1+

0,900

R()) standard reflection
Ostwaldcolour: yellow Y, ;=495 ;=700 Ag=570
triangle lightness

R(}) standard reflection
optlmal colour: white W, ;=400 ;=700 Ag=—
ROV triangle lightness 1+

00 500
wavelengthA /nm

R(A) standard reflection
Ostwaldcolour blue B, 1:=400 \,=495 \¢=470
triangle lightness.

R(A) standard reflection
Ostwaldcolour: yellow Y, \=495 A;=700 A¢=570
ROV Tiangle lightness

100 500
wavelengthA /nm

R(A) standard reflection
optimal colour: white W, A1=400 A;=700 ,Ag=-
R() triangle lightness 1+

1,0

0,036,

00 500
wavelengthA /nm

R(A) standard reflection
Ostwaldcolour: blue B, ;=
0

0,900

00 500
wavelengthA /nm

R(A) standard reflection

Ostwaldcolour: red R, A1=570 A2=700 \¢=595
triangle lightness
1,001
0,751

0,501

R()) standard reflection

Ostwaldcolour: magenta M, ;=570 A;=470 ,A4=520¢c
RO\ triangle lightness T+

1,004

0,754

0,50

0,25¢,

0,00

0 500
wavelengthA /nm

standard reflection
0,036<=R(A)<=0,900

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: green G,\1=470 \,=570 \4=520
triangle lightness
6,00
3,001
1,001

13

(7 (A)/0,18 relative reflection
Ostwaldcolour: cyan C,A;=400 A,=570 ,A4=495
triangle lightness

R()) standard reflection
Oslwaldcolour red R, A;=570 ,A,=700 ,A¢=595
triangle lightness

1,001

0,75

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
Oslwaldco lour: green G,A1=470 A;=570 =520
triangle lightness

0,8

A

R(A) standard reflection
Ostwaldcolour magenta M,\1=570 A,=470 A
triangle ightness

1,001

0,751

CEvas-a
Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: cyan C,A,=400 70 Ag=495
Ri(A) u

0,8

500
wavelengthA /nm
CEvar-cA
standard reflection
0,036<=R(A)<=0,900
without N reflection

CEV31-7N

Rr(A) = R(A)/0,18 relative reflectlon
Ostwaldcolour: yellow Y, A=495 A,=700 A¢=570
triangle lightness
6,00}
3,00
1,004

13

(A) =R(1)/0,18 relative reflection
optimal colour: white W, A:=400 ,A;=700 A¢=—
triangle lightness

6,001

Rr(M) = R(A)/0,18 relative reflection
Ostwaldcolour: blue B, A1=400 A=495 \¢=470
triangle lightness

6,001

3,004

00 500
wavelengthA /nm
T

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour yellow Y, A\=495 A»=700 A¢=570
triangle lightness
0,8 0. qu

00
waveleng!h)\/nm

FL.(A) log[Rr(A)] = log[R(A)/0,18] reflection (log)
optlmal coluur white W, ;=400 2=700 Ag=—
triangle lightness
0,8f 0.6 698

0,000 ll

R{A) 0g[Rr(A)] = log[R(M\)/0, 18] reflection (log)
Ostwaldcolour: blue B, A;=400 ,A,=495 A¢=470
Re(\) triangle hghmess
0,8} 0.698_ _

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: red R, A1=570 A2=700 \¢=595
Rr(A) triangle lightness
6,00¢ 4.999

3,001

600

Rr(A) = R()\)IO 18 relative reflection
Ostwaldcolour: magenta M, ;=570 A;=470 ,A4=520¢c
Rr(\) triangle lightness

6,001

3,001

standard reflection
0,036<=R(A)<=0,900
relative reflection
Ri(A\)=R(A)/0,18

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: red R, A1=570 ,A,=700 A¢=595
triangle lightness

0,8

0,4

(A)] og[R()\)IO 18] reflection (log)
Ostwaldcolour magenta M,\=570 A,=470 A¢=520c
Rs(A) triangle lightness

0,8 0,698

00 500
wavelengthA /nm
=

standard reflection
0,036<=R(A)<=0,900
log[relative reflection]
R{(\)=l0g[R(A)/0,18]
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TUB test chart CEV3; Wavelength ranges @dd&waldcolours, and whit&V
ReflectionsR(A), Rr()\)—R()\)IO,18 anRg(A)=log[R(A)], triangle lightnes3*, con
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